Generator file information: w101261 bbude2n2_o

process_id=w101261

job_date_time=100625-223021

process name=bbude2n2 o

CM_energy_in_GeV=350
program_name_version=whizard-1.40
beam_particle1=e1

beam_particle2=E1

polarization1=+1.0

polarization2=-1.0

luminosity=1000
cross_section_in_fb=2.16302515360244
lumi_file=/tmp/lumi_linker_directory/lumi_linker_008
file_type=stdhep

total nhumber_of _events=10000

number_of files=1

file_names=w101261_01.stdhep

number_of events in_files=10000
fileurl=Ifn:/grid/ilc/users/miyamoto/CDS/generated/0350
logurl=http://www-jlc.in.kek.jp/~miyamoto/CDS/0350/run_output/w101261/run_01
comment=



Particle ID : w101261 bbudeZn2_o

h_id

Entris 989415

Particle Energy : wil1261 bbude2n2_o

E Meamn 15.57
- RMES 432.9
10° |
IO O I 1 11 O e 111
2000 <1000 1] 1000 2000
Particle ID
h_cs

Particle cos 6 : wi01261 bbude2n2_o

h_a

Enaries  9E0415

Particle Pt : w101261 bbude2Zn2_o

h_pt

Entris 989415

RS 05865

E Maan 31.605
i RS 2.578
10°
10 E
10°
10°
10
.1
ElllllllllllllllllllllInnll
1] 20 40 &0 B0 100 120
Enargy[GaV)
h_wr

Start point R : wi01261 bbude2nz_o

.038ez

[

-1 0.5 (1} 0.5 1
cosf

&

Enaries 969415

Ensries  9E0415

3

10

10°

T |||||IT|

10

.“...|”..|.[|J.|

Al 144.3

-1.n== Maar 2318

i RS T.05

10°

10°

m‘;—

10°

10

| I

Elllllllllllllllllllllﬂ"II

0 20 40 60 BO 100 120
Pt{GeV)
h_wz

Start point Z : wi101261 bbudeZnZ_o

0 2000 4000 &000 8000 10000120001400016000
Start point Radius

&

10

10

10*

10

Enaries 960415

.|H|.|ﬂ.. ...|mlmll"'H“J‘""]"'ﬂ“'

-8000-6000-4000-2000 0 2000 40006000 8000

Start point



Total Energy {Inc. v} wid1261 bbude2n2_o h_etot

Ensries 10000

Total Energy (Ine. v} wid1261 bbude2nZ_o h_etotc

= Moamn 348.5
B RS 1.62
i |
10°
10° |
10
=
- II|IIII|IIII|IIII

320 325 330 335 340 345 350
Total Energy(GaV)

Pt Sum: wi101261 bbudeZn2_o h_pt

Enaries 9951

Total Energy {wio v} wid1261 bbudedn2_o

h_ewis

Ensrka 10000

Man 44.2
k] 413.88

Emaries 10000
Mz 2834

A5 .7

10

|”|| (NN NN FEE N N

L.

200 220 240 260 280 300 320

30

Enargy(GaV)

(1} 20 40 &0 B0 100 120
Ptzum) [GeV)

Thrust w101261 bbude2n2_o

h_thrust

Blaamn 348.6
. RS 1.267
10"
10° F
10—
1
bl o oo b b o b o bt
340 342 344 346 2348 2350 2 352
Total Energy(GeV)
Pz Sum: w101261 bbude2n2_o h_pz
Enares 10000
- Mean <6219
RS 33.49
10° -
10
1 -
:|||||||||||||||||||||H|

-100 -50 1] 50 100
Pz{sum) [Ga¥)

350

Enaries 10000
Maan [y |
RS 007006

300

250

200

150

100

=
B
L

o
B

0.5 0.6 0.7 0.8 0.9

1

Thrust




Total Energy {Inc. v} wid1261 bbude2n2_o h_etot

Ensries 10000

Total Energy (Ine. v} wid1261 bbude2nZ_o h_etotc

= Moamn 348.5
B RS 1.62
i |
10°
10° |
10
=
- II|IIII|IIII|IIII

320 325 330 335 340 345 350
Total Energy(GaV)

Pt Sum: wi101261 bbudeZn2_o h_pt

Enaries 9951

Total Energy {wio v} wid1261 bbudedn2_o

h_ewis

Ensrka 10000

Man 44.2
k] 413.88

Emaries 10000
Mz 2834

A5 .7

10

|”|| (NN NN FEE N N

L.

200 220 240 260 280 300 320

30

Enargy(GaV)

(1} 20 40 &0 B0 100 120
Ptzum) [GeV)

Thrust w101261 bbude2n2_o

h_thrust

Blaamn 348.6
. RS 1.267
10"
10° F
10—
1
bl o oo b b o b o bt
340 342 344 346 2348 2350 2 352
Total Energy(GeV)
Pz Sum: w101261 bbude2n2_o h_pz
Enares 10000
- Mean <6219
RS 33.49
10° -
10
1 -
:|||||||||||||||||||||H|

-100 -50 1] 50 100
Pz{sum) [Ga¥)

350

Enaries 10000
Maan [y |
RS 007006

300

250

200

150

100

=
B
L

o
B

0.5 0.6 0.7 0.8 0.9

1

Thrust




costHthrust) wi01261 bbude2n2_o

h_csth

Ensries 10000

[ Muamn 1957
i RMS  0.5451
180 T
160
140 —
120 —
100 —
ol
ol
wf
20}
oLl =
Thrust
energy for 2jets :w101261 bbude2n?_o h_je

Ensriks 20000

i Mean 1213
2500 |- L
2000 I
1500 |-
1000
500 |-

g L bbb b by Lo

uﬂ 20 40 60 80 100120 140160180 200220 240

Jet energy (GeV)

Yeut for 2-jets :wil1261 bbude2n2_o

h_yec2j

Emaries 10000
Mz 2.2603
] 32641

0.6

0.8

.1

yeut for forced 2-jets

Jet mass for foroed 2-jeds : wi01261 bbudeinZ_o

h_jomjim

No. jets (yeut=0.001) : wid1261 bbudeZn2_o h_njets
Emaries 10000
F Mean £.807
3000 __ M5 1.23
2500 -
2000 -
1500 N
1000 —
500 ~
u-lll (NN NN IIII|,|IIII 1111 IIII|-|IIII‘IIIIJIII
4 5 & T 8 9 10 M1 12
No. of jets
cos # for 2-jets :w101261 bbude2n? o h_jlcs
Emarhes Zaoon
[ Maan 2.09303
IEI!'.I[I N RMES .e404E
2000 —
1500
1000 —
500
u-|||||||||||||||||||||
-1 0.5 0 0.5 1
cos d{jet)

Mass[jag]
=
y R

150 £

100 |54

n|||||||||||||||||||||m|||

Enarigs 10000
Meanx 1306
Moany 7408
RMSx 9357
RMSy 5418

1] 50 100 150

200 250

350

Mass[jnt‘l )




Yeout for 4-jets :wi01261 bbudeZn2_o

h_yecdj

Enars

10

10

10000
303078
005447

Jet energias|All jets)wi101261 bbudeZn2_o

L

0 005 01 015 0.2

025 0.3

yeout for forced 4-jets

2jets mass|All comblwi1261 bbude2n?_o

ha_mo1

Enstres  E000D

Moan  107.6
B RS 49,58
10°
10° |
10k
Dol v v bvv v bvvvn v bvraa by

0 50 100 150 200 250

M(J J,) (GeV)

ha_j0e

Enaries 40000

Jot cosd (All jets)wi101261 bbudeZn2_o

ha_jlcs

i Moan &8, 76
= A 37.48
10°
10° |-
101
:III|III|IIIIIIIlIIIlIIIlIIIlIII|II
O 20 40 60 B0 100 120 140 160
E(Jet)

Emnaries 40000

| Bloamn .OBGES
B RS 36256
10°
1“2 H 1 1 1 1 | 1 1 1 1 I 1 1 1 1 I I 1 1 1 |
1 0.5 1] 0.5 1
cos




